
SEC 1 MATH

Term 2 
Practice
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Answer all the questions. 
 

1. Simplify the following. 
a) 9 × (−𝑥𝑥) 
b) 𝑏𝑏 × 𝑏𝑏 × 5  
c) 5𝑥𝑥 × (−3𝑦𝑦) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. Simplify the following algebraic expression: 

a) 12𝑦𝑦 + 3𝑦𝑦 − 9𝑦𝑦 
b) 3𝑏𝑏 − 2𝑏𝑏 − 8𝑏𝑏 + 3 
c) 4𝑥𝑥 + 3𝑦𝑦 − 2𝑥𝑥 − 𝑦𝑦 
d) −3𝑥𝑥 + 5𝑦𝑦 + 4𝑥𝑥 − 𝑦𝑦 
e) 𝑎𝑎 − 5𝑏𝑏 − 2 + 6𝑎𝑎 + 3𝑏𝑏 − 9 
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3. Expand and simplify the following:  
a) 3(2𝑥𝑥 + 𝑦𝑦) + 6(4𝑥𝑥 + 𝑦𝑦)  
b) −3(2𝑥𝑥 − 5𝑦𝑦) + 2(4𝑦𝑦 − 3𝑥𝑥) 
c) 4(3𝑥𝑥 + 𝑦𝑦) − 6(2𝑥𝑥 + 7𝑦𝑦) 
d) 5𝑎𝑎(2𝑥𝑥 + 3𝑦𝑦) − 3𝑎𝑎(3𝑥𝑥 + 2𝑦𝑦) 
e) 4𝑝𝑝(𝑞𝑞 − 9𝑟𝑟) − 𝑞𝑞(3𝑟𝑟 − 𝑝𝑝) 
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4. Simplify the following: 
a) 2𝑝𝑝+𝑞𝑞

8
− 2𝑝𝑝+5𝑞𝑞

16
 

b) 4𝑏𝑏−3𝑐𝑐
7

− 3𝑐𝑐−2𝑏𝑏
2

 
c) 𝑧𝑧+7𝑥𝑥

3
− 2𝑥𝑥−3𝑧𝑧

5
 

d) 1
3

(3𝑝𝑝 + 2𝑞𝑞)− 1
2

(𝑞𝑞 − 2𝑝𝑝) 
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5. Solve the following equations. 
a) 4𝑥𝑥 + 7 = 11 
b) 2 + 2

5
𝑧𝑧 = 8 

 
 
 
 
 
 
 
 

 

 

 

 

6. Solve the following equations. 
a) 9𝑟𝑟 + 2 = 5 − 6𝑟𝑟 
b) 8 + 2𝑝𝑝 = 5 − 2𝑝𝑝 
c) 𝑥𝑥

2
+ 𝑥𝑥 = 6  

 
 
 
 
 
 
 


